Raniganj coalfield is situated in

S sneal
(A)  Odisha (B) v:/cs'td?‘;l;g
arkni ;
(C)  Madhya Pradesh ® Al
(E)  Question not attempted 5
T e i feura R . b
©) Wy (D) FRES
(E)  o7fafa ww .
i Khetri Copper refining plant?
2 Which of the following statement is not correct about the Khe

P

(A)  Itis situated in Bikaner district of Rajasthan.

(B)  Italso has a Sulphuric acid plant and a fertiliser plant.

(C)  Itis an integrated Copper mining-cum-ore refining plant.

(D) It obtains copper ore from the Malanzkhand copper mines. .

it e

ol S

Goiids

(E)  Question not attempted li
ﬁmmaawmm@@mm@ﬁwﬁw@
(A) & T 3 sfrarre fiet i feere 3 p
(B) 3o U e ot e o sk v o &
(C) o Th ChIFa Qa1 G- a M WA 8 i
(D) € WCISRAYS dieT GE &, T I7EGH WTH T 2 A
(E) raRawx

3 Which of the following is a brackish water fish?
(A) Loach (B) Rohu
(C) Perch (D)  Pompano
(E)  Question not attempted
Frafafea 3§ & <9 o @r o & meeh %"
(A) d= ®) W
© w& (D) gy
(E) orgai@ud

4 Find the number of coins, if each coin is 2.5 cm in diameter and 0.2

cylinder of height 10 cm and diameter 5 cm. ol
afe sift R o =am 2.5 Feft 3 AR 0.2 At & 4w oy _ P
ot fert ot vt 212 e iy i T et e 10 ¥t it sy 5 ey, AR

A=y

— 13 &
(A) 200 : ®) 250 t
(C) 50 @) 100
(E)  Question not attempted / AT y
5 Internal length, breadth and height of a rectangular boy are 8 o
‘ ) cm .
How many boxes can be packed in a cube whoge volume i 6146 o3 and 4 ¢y Tespectively,
AT fesa &t avad, =herd st cm’ 9
Th 373|§m 8cm, 6 emayy
(@pfera) B2 MR 6144 g3
(A) 28 4 ® 1
©) 32 &
(E)  Question not attempted / 3TTufa Wiy 36
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@ If the word “MATHEMASICAL” is spelt with “N” in place of “MA”, then the percentage rcdumn in the number

of letters, is: )
“MATHEMATICAL” m‘{e:{ﬁ AR “MA» ¥ T v N Rvear sy svedt Y wree i P Hﬁhﬁ%ﬁl i
@Ay 152 3% ™ (B) mi;-% o
o 5 ©
<C) 2% [ (D) 16—3—% : [
(E)  Question not attemptéd / 31l war .

l 7 A lent X 600 to B for 2 years and ¥ 200 to C for 4 years on same simple interest. He received all together from both,
I ¥ 100 as an interest.The rate of interest is
;T\“?t ‘B’ ®IT sooa“rgg‘i‘%i%rqaﬁz ‘© qﬁz\@@%mmm«wmm&mﬁ{%@az 00 2T
T - [0 % ' O
@) 4% m ; o0
m (B) 8% N
© 10% o D) 5% o
(E)  Question not attemgted / rgatE g o
8 Animal Husbandry contnbutes around share of agriculture sector in Rajasthan.
(A)  3/4th gmi ®) /50 -
©) 4w D) 1/3«
(E) Question not attempt;:d ' . (s8]
TS 3 1Y &1 3 W a1 61 e e e 2 o
(A) 3/4ai oo : ®) lsat o0
(C) 1aswi ') ®) 134 ™
(B) Igaiaws o ()
Indira Gandhi Canal has been built on the following rivers : o
(A)  Sabarmati and Parvati . (B) Beas and Satluj =
(C) Mahi and Chamba ) (D) Son and Banas v
(E)  Question not attempted
Ry et et et 3 & g AR w22 ™
(A) TEREd T Tt ) (B) UM Td HAS o
() w w00 (D)- VA & T 0
(B) b ) ™M
10 The state of Rajasthan prﬂces around % of the total wool production in India. 8
TroreT T4 M 3§ el z FADIT I Seqred s R I~
(A) 40 i (B) 30 v=i
(C) 60 (D) 50
(E)  Question not attempted / Aty
11 Which Regiment of the 1#dihn Army did Major Shaitan Singh belong to? ™M
(A) Madras Regimentm (B)  Kumaon Regiment ©
(C) DograRegiment (D)  Bihar Regiment ((Yx.))
Question not attemp d
gmmmw P 8
(A) Az W r-», (B) m}ﬁiﬁ! r~
© <R v, , (D) frEriRwz A
(B) AR
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1 .
2 Given below are two statements:

[ERN =7
by oy
- -

were led by non-farmers. £

Statement (I): Agrarian movements of Rajasthan pefore independence |
y Y.N. Handa, a Communist lcader, ol

Statement (IT): The movement in the Ganganagar arca was led b
fe answer

e e g

from the options given below.,

SRR A

In light of the above statements, choose the most appropria
(A)  Statement (]) is correct but Statement (11) is incorrect.

(B)  Statement (I) is incorrect but Statement (I1) is correct.

(C)  Both Statement (I) and Statement (II) are correct.

(D)  Both Statement (I) and Statement (II) are incorrect.

(E)  Question not attempted

= A wem Re e E:

U (1): S A & T 6 FH it e e e 3 foet
Wﬂl)zméﬁ%a@mmﬁaﬁ@mﬁwﬁm aré, o, e 36 & R T

ST HeAl 6 mﬁ,ﬁﬁvwﬁaﬁﬁﬁmﬁbmwgﬁwgﬁl

(A) T (1) T & A e (1) T 2 (B) W(I)W%WW(H)W%

©) T (1) SR (1) A E R (D) sﬁm(l)aﬂtm(n)aﬁéw%u
(B)  ia W
13 Where is famous Sela pass located through which road connects to Tawang?
(A) Assam (B) Meghalaya
© Arunachal Pradesh (D)  Sikkim
(E)  Questionnot attempted , %
aﬁzﬁwwmﬁﬁm%sﬁmﬁmﬁwﬁ
(a) FEH ' (B) WeEH .
() b

© LI G|

() SgERasH

14  When the government spends an amount equal to the revenue that it collects, it is known as a:

(A) Balanced Budget ®) Equal‘Budget

©) Deficit Budget (D)  Surplus Budget

(E) Question not attempted

mmsﬁmwﬁﬁm%muﬁmmawmm%

(a) agfera e ©) AT

() TRFTTE PO P

() HgaRa A ’
15  Who among the following is the author of the’General Theory of Employment, Interests and Money’s ’egﬂdew'

one of the most influential books of the twentieth century? : |

(a)  Kennelh ATt (B)  Friedrich Hayek g
(©)  Rober o (D) John Maynard Keynes

(B) Question not attempted

Wﬁﬁw‘m'm@ﬁm%mm"w%mﬁﬁﬁzoﬁmﬁwgﬁ

g&ﬁmﬂramr%? ]
) Fe B it
© T R

® T Lkl
Al7 ]@
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22

Who among the following is known as the father of Green Revolution in India?
(A) Hiralal Chaudhary (B)  Sam Pitroda

(©) M.S. Swaminathan (D)  Verghese Kuricn
(E)  Question not attempted

frforfea & & R s % e sifiy w61 st s st 22

A) e Sl @B) A fEer
(C) UH.UH. WA . (D) =i FhET
(E) rgaia us

What percent of the Indian population was dependent on agriculture for their livelihood at the time of independence?
(Choose the most appropriate option from below)

(A) About 65% ~ (B) About 60%

(C)  About 85% (D)  About 75%

(E)  Question not attempted

T ok W MR S Tt s st a1 sy 3 R iy o nft oty (et & wrard 3w fasher 79)

(A)  65% T (B)  60% TN
(C)  85% M (D) 75% ST
(E) AguRaws
FrraEr ¥ Sl-ar e R
A) T (B) HHUTH
(©) T=RivE (D) wglife
(E) SgaRaw
FTH | 3IqE 2-
A) =m B) =q
© =S D) ==
() IgaRaws '
TR T | T #-
A @ B) 9
%= | @)
(B) STErass
Frfrfae i & -8 W5 G0 ¥ Tl e A 7,
2  FhE ‘ b. T
- d. wwh
e. ™= &
o foq T et # & wraifares IUG AT H S AT :
(A) Faet c 3lite B) FawdINa
(C) Fadasitb (D) Fawb3id
(E) 3Igafaud
frafafaa ¥ 16 7= 8-
o~ T b, W™
Cr A& i /™
e. ~ A
9y R Ty Rt 3 & waiferd ITgE IO ¢
(A) FadaRd : (B)- ¥aea, c3fe
(C) Fada3iNc e D) mcaﬁ“’
(E) Aaiagx 5
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23

24

25

o
ﬁﬂ%mft{w

!l'sg b.v Tﬁ'aﬁl’*ﬁ‘{ff%l € ﬁ;
AL S i, SermsTERLS
SN R (e o
ﬁﬁqmﬁmﬁammmaﬁ (o)
@ FEeata O ® Fashoy
© daabadtd ™~ (D) FaeradMc v
() rgef@ww .
Given below are two statements: )
Statement (I): Sansilis Nomadic tribe mostly found in Bharatpur district. e
Statement (I1): Tth) division of Sansi are Vija and Mava. (98]

In light of the above f\' tements, choose the most appropriate answer from the optiqrﬂ}ngen below.

(A) Statement (I) 1s_§orrect but Statement (II) is incorrect. g

(B) Statement (I) iSincorrect but Statement (II) is correct. =

(C) Both Statemeht'(I) and Statement (II) are correct. i:;

(D) Both Statemenf’ (I) and Statement (II) are incorrect. A

(E)  Question not attempted

R A F Ry E: vy ™

wYUA (1): TiEt O GHpSST 2, S R e mﬁﬂéﬁﬁmﬁ%l .

= (1): et s e i AT At 3 gﬁ

i w5 ey A R Rt & et v S o

(A) = (1) T @ F (1) o R (B) U (I) TS § ek T (I1) HEt 21

(C) A (1) A FA (1) 3wt &)
(E) i@ ™ v

Given below are two statements:

®) W(I)%ﬂtwaﬂjﬁam%l

Statement (I): The Ghambal project is a combined project by the Madh

ya Pradesh State and the Rajasthan state.
Statement (I1): Maﬁ})owcr project is located close to Udaipur in Rajasthan,

In light of the above Sfatements, choose the most appropriate answer from the o

(A) Statement (I kis)conect but Statement (I1) is incorrect, P"‘iﬂggwen belov:s
(B)  Statement (I)jSincorrect but Statement (11) is correct. )
(C)  Both Statemént (I) and Statement (1) are correct. ™
(D) Both Statcmr‘ t'(1) and Statement (1) are incorrect. ot |
(E)  Question not attempted
a2 A fey g B0 ™
::((ll)l Wﬂuﬁrmmmmtwmﬁmqmwm )
T a1y W s o arseat g e e ' o0
T T} & ﬁfmwﬁmﬁﬁmﬁwmmiﬁ' (V']
(A) ‘
(C) (1) shueged (1) < we #) ) mq“)"W‘ﬁ'ﬁs'ﬁ'*"ﬁﬁ‘!?(u)aa‘t%l
L = 0 st 1f e

[ P.T.O-
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-5 Which of the following writs is issucd by the supreme court to prevent an inferior court from usurping jurisdiction,
which is not vested in it?

(A)  Prohibition (B)  Habcas Corpus
(C) Mandamus (D)
(E)  Question not attempted
FrerferfRas 3 9 w6 W e e =rrera gror sl A Sl R, i freret srarer =T 6 % ST B i @ aur
St g aTiiren 7 e i 2

(A) iy (B) i yeaafiRT

(C) RN (D) I (aféatidh

(E)  IJaid s

“Blue Revolution™ is related to: (Choose the most appropriate option from below)

(A)  Flower Production : (B) Milk Production

(C)  Fish production (D) - Fruit Production

(E)  Question not attempted

«freft shifer deiftra 8: (et 3 & oy S7eh vkt )

Certiorari

[N

(A) IR (B) FUIAEAN
(C) v ST &/ (D) W IAEAY
(E) TIafa
2 Which problems are being faced in human capital formation in India?
a. Rising population b. Brain drain
c. Deficient Manpower planning - d. Low Academic Standards
Choose the most appropriate answer from the options given below:
(A) a,bandconly. (B) a,b,canddall
(C) aandb only. (D) bandconly.

(E)  Question not attempted

T 3 A gt Frafor 8 R o T o €

a. qadt SHEEr - b. T UERE

c.  3ygaty s fEsE d.  fre= Qefors A
3 e e Rt o @ warffires IUgh S :
(A) Fada, b3ic " (B) a,b,c3R dmft
(C) FHadaiNb : (D) FEAbINc

(E)  a¥dfea g |

.} The main objective of ‘CHAUKA SYSTEM’ of Rajasthan is to
(A) Manage Water Resources in Water Stressed Regions
(B)  Manage Food System in Rajasthan
(C)  Support Bee Keepers ,
(D)  Increase Animal Husbandry
(E)  Question not attempted
— TSwE o e OEl” e S R
(A) 9T i F Iqereudr aTel &1 # U & TaTeHT Eh T FE
(B) TSR # sfisi WoTTef} o1 Jel 9 &G
(C) WY Tt Y WEANT HA
(D) 9] 9IS Y FGET ~
(B) orgaf@wy
e 7 (P10,

|
t
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30 ‘Taanka’ is a tl?gitional
(A) Animal e[;l_\jsbandry
©) Agriculw
(E)  Questiofipt attempted
TSTET o AR Y &7 § araaar

(B)  Agro Industrial Work

technique common to the Thar desert region of Igéasthan.
(D) Rainwater harvesting

38

3 fTT “TT=hT" U T AT 2l

(A)  TIED ®) T e w
© FH I~ (D) =t Srer e ~

, (BE) rgafaws i

@@/ The percentage of area under cultivation in Rajasthan is around _____~ .
(Choose the m S appropriate option from below) i
TS 3 et SR T it 21 (B & vl s Rea ) ()
(A) 55% 0 B) 60% g
©) 4% ™) D) 51% m
(E)  QuestiodTiot attempted / mﬁﬁ BE
@ When a commddity is sold for ¥ 69.60 there is a loss of 25%. The cost price of the COTSOdlty in X is:

STl e g b £769.60 ST ST ST 1 25% I €reft 21 mmmmw&ﬁw%i\
(A) T94.80v{ B) T90.20 e’ 5
(C) T92.80 (D) <T88.80

(E) Questio&xiot attempted / a?g?rﬂ?r g4
@ A batsman mal\(gs a score of 90 runs in the 17% inning and thus increases his average by 3. Find his average after

17% inning? €O 0
“(A) 40 RunfY) ' (B) 42Runs ™)

(C) 44 RunfD (D) 38 Runs 0

(E) Questlogot attempted

@ac—v}maﬁ 174 it & 90 T w1 TR FTan ¥ e Soeht offa 3 aawiﬁﬁfqrﬁ%mmaﬂw

madfg T _ w1 £

A) 40@ B) 442

44 B 38
©) ™ g (D) =

(E) rgafqsg : ,
. : 0T . i i m%ltheraﬁohl.lfeachsaves

The income offr. Dhull and Mr. Hussain are in the ratio 7 : 4 and their expenditure

a % 10,000, then{My. Dhull’s expenditure is:
o, et ST SACGAT %1 AT BT T 7: 4 % ST T AT 22 1 A AR TAFT 1&300@@&%%3‘75& DRSH

mege. O P
(A)  270,000™ (B) 75,000 I~
©) 260,000 (D) 65,000 i

(E)  Question not attempted / 3TTARE T4
35 WW@WWWW@W@WWl ‘

a. =gfd +uF ¥ bt Frew=f+aw - M)
s =aq + g~ dy  IgEw = A + I Q
-m’rﬁm’ : , o0
ﬂ%mmﬁa@ﬁﬁmfﬁmmﬁﬁm?ﬁ ™M
(A) Fcaye (B) Fasa, b3t d 8
© F@aboshd ® FEcdste

@ e il ‘

> [ P.T.0.
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i  Which of the following organization functioning under the Ministry of Statistics Planning and Programme
Implementation, Government of India conducts five yearly suryeys of employment and unemployment?
) nssa ) (B) SSP o™
() NSS o (D) NSSO

(E) Questior} not%mpted )

T T o WY, BIeT T Srle s HATerd o avﬁwﬁmﬁﬁﬁaﬁ&zﬁhmm%wm aftt e
e HERTOT FATRD | - M,
(A) TTCHTHT (NSSA) (B)> wmwadt (SSP) O /
(€) TTEHTH (NS - (D) TCHTEs (NSSO) = /
() STIRA T yuud

7 What is the total income of the country divided by its total population called? (Choos¢ théTrqost appropriate option
from below)

(A)  Gross Incom€¥) (B) Net Income 49

(C) National Incéme (D)  Per Capita Income o

(E)  Question not{ffempted - «
el AT Y T ST ERYERY ot ST & R 7 STH A ey oo 1 e & (e %ﬁmmﬁmﬂﬂ
(A) FERAIT O : ®) FAIW O

© TEIE O (D) ufr = 3 bt

(E) IIORaTA £~ ~
§  From which of the following funds all expenditure of the Government is incurred and no.arrwynt can be withdrawn
from it without the authorisation from the parliament? '

(A) Public Account (B) Private Account
(C) Contingency¥und (D) Consolidated fund ™
(E)  Question nofAttempted gt
ﬁmﬁ%ﬁﬁé%ﬂjﬁﬁﬁm%aﬁmﬁqﬁﬁaﬂrW%ﬁmgﬁﬁ%@mqﬁaﬁm
Tl 87 :
(A) i S o ®) e 8
© ' (D) wafEa
(B) ITIARG T - ?
9  Given below are tatements: e

ment of Religions held at Chicago in 1893, Swami Vivekanandade a great impression

Statement (I): At the parlia
address was the need for a healthy balance

on people by his learned interpretations. The keynote of his opening

between spiritualis d materialism. '
Statement (II): In'g;, he founded the Ram Krishna Mission. The mission stands for refigjous and social reform.

He was a great humanist and used the Ramakrishna Mission for humanitarian relief and so§idl work.
eqatcments, choose the most appropriate answer from the options givetpelow.

In light of the abov

(A)  Statement (I)ﬁgcorrcct but Statement (II) is incorrect. ™
(B)  Statement (Ifiskincorrect but Statement (1) is correct. o
(C)  Both Stateméni)(I) and Statement (II) are correct. o
(D)  Both Stateméft«(T) and Statement (1I) are incorrect. I~
(E)  Question notattempted i

o (I): & 1893 3 frepm #f U ofileh Hag Sy foma T war ferdr A ateR forgan wof saream & Suftea
it 3 S T TRy ﬁmm%g&uﬁgﬂﬁﬁﬁm&ﬁnﬂﬁm%ﬁﬁa@wwﬁ

ST gl
e (ID): 1897 H mmﬁmﬁmzﬁlﬁmmﬁmsﬁxmwaﬁmm{ﬁmwmm
3 3fiT ST T 257 SR AT U R U 3R armiren it o ferg fmam
I AT 3 aeg A, A g e fedt # & wartfrd Iag I g ™
(A) () ad o (1) e B (B) A (1) TTerd © fehT e (et 21
(C) & (1) 3 S (11) ST HET &l (D) A (I) 3T Y (1) 2T a2
® @ o o
e |

[ P.T.O.
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40 Who formed a women’s regiment in the Indian National Army in 19437 .
(A)  Jawaharlal Nehru (B) Subh.z.lsFl Chz;ndra ose
(C) Mahatma Gandhi (D) Sarojini Naidu
(E)  Question not attempted

1943 % 3feaa Aumer ammff & e Wt v fra i o2

(A) AR wE (B) QwERSE
(©) WewEA (D) @A ATg
(B) rguiaws :
41  ‘In Memoriam’ painting was painted by whom in 1859?
(A)  George Paton (B) Jone Kersia
(C)  Jone Borkar (D)  Joseph Noel Paton
(E)  Question not attempted
18597 1 Arefearsr sreres Afdar feberds g s ord o
A) S (B) S wRiEr
© SR @ RwH e
(B) rgafawy
42 The Mudaliar Commission was setup in 1952 to: (Choose the most appropriate options from below)
(A)  Examine the condition of the secondary education system.
(B)  Formulation an industrial policy for an independent India.
(C)  Study the allocation of resources between the centre and the states.
(D)  Study the demand for the re-organisation of states based on basic principles on liguistic basis.
(E)  Question not attempted
1952 8 FRFIT ST <6t T oy 11 of: (R & Ty sogres feraea )
(A) et fare worredt ot fRerfr i witer 3 frgy :
(B) & W & for sfenfires <fiftr Fam vy 3 fory
© waﬁttﬁzﬁ%aﬁam%mmwm&;ml
(D) m%mmwﬁ%gﬁm#mwmn@ﬁaﬁ%wmmm%%ﬂn
(E) rgdia s »
43 Rajaji Tiger Reserve is located in which of the following states?
(A) Uttar Pradesh : (B) = Madhya Pradesh
(C)  Uttarakhand ' (D) Rajasthan
(E)  Question not attempted '
Frefafea # & 2 & voa & el erdm e R 2
(A) TR (B) wAWRY
(© swEe D) TwE
(B) gafayy

44 Sariska National Park is mainly famous for? (Choose the most appropriate option from below)
(A) Indian Leopards

(B)  Siberian Crane
(C)  Royal Bengal Tiger (D)  Asiatic Lion
(E)  Question not attempted

mmww:mmmmﬁnﬁammﬁm@
(a) TR ®) wERE
(C) TS e : () I —
(B) At A

A17]@ g 10
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Which of the following statement is not correct about dry teak forests of Rajasthan? (Choose the most appropriate

option from below)
(A) Generally the he?ﬂht of the trees range between 9 to 13 meters

U’)

-
(B) Teak wood is cor?mmerc1ally useful and used for making furnitures, panels %doors, windows and house

construction Q—U (v)

£y "
(C)  These forests are located in the southern and south-castern parts of state (>
(D) Inthese areas, annual rainfall varies from 150-200 cms. C:)

(B) Question not attempted
Frerferfea & ﬁmm*ﬂjm%a@m\,&mﬁwm@ (ﬁwﬁammﬁmgﬁ)
A) AT 5 gl bt St 0. 13 et e Ot 21

®) O ) TR T & I 2 e g i e e, et e, fagf o e Fe

Aoy )
(© i, Rl e 2 e 8 R & -
() T &l i e awt afy 150 2 200 Airfte oo BXft 2 ™
® ogataya o
Which of the follown&;;ﬁoes not correspond to an audio file’s valid extension? ‘™)
ﬁmﬁw@aﬁ%ﬂq%wmw%éwﬁwn%mqﬁ%? N
(A) rar e (B) .mp3 -
(C) .mid D) .wav
(E)  Question not attempted / ﬂgﬂﬁﬂ o=
Convert (101110), = (2} , g’;
{base 2 to base 8} («Jﬁ B 0
yiafda hifsg &0 ;f%
(101110), = (?)g ™ )

(o’

(3T 2 ¥ TR 8} ey : -
A)  (30) i B) (20) f:
(C©) (56 et D) (@8 y

(E)  Question not attempted / I I
Which of the following is not a type of the printer? (Choose the most appropriate opggx; from below)

(A) Laserjet Printeg';'i ag ‘ " (B) 3D-Printer €y
(C) Inkjet Printer (D) Dot Solid Printer 0
(E)  Question not attempted o
Frefoian & & e g ot e 7 (e s e P
(A) e i (Iz,asex]et Printer) B) 3
(€ FFRMRX (D) muﬁréﬁa e~
(E) N@ﬂﬁ?{ L S ' vd
. Mantha river merges in whlch of the following lakes of Rajasthan?
(A)  Anasagar lake , (B) Sambhar lake
(©) Picholalake {7} (D) Didwana lake 8
(E)  Question not 4itémpted P
mﬁﬁwﬁmmﬁwﬁmﬁm@ o
(a) SR’} (B) whwHiT o
© freensia O (D)  reamr e O
® ogerawr & r~
vl

E:‘"ﬂn

17 ]® ] 11
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i ?
i onsoon of Rajasthan?
50 Which of the following statement is not correct about the winter m

(A)  Winds are dry duc to their terrestrial origin impacting rainfall. ' S oribe

(B) In this period some winds bring rain after coming into contact with mcdltcrrarTcan c?' % .

(C) A highly developed pressure centre to their north of the Himalayas impacts rainfall in w'm er. > 1‘
(D)  Winds start blowing from oceanic high pressure arca to terrestrial low pressure are causing rainia L
(E)  Question not attempted

Pt & & a3 ar v, T S g e 3 aad i we T 82

(A)  Treha ek & s gand on e &, Rl aut mfera 8 2

®) T v i o ward e ST 5w i o 3 e i e

(©) oo & et ww v Rl gara thy i # aat 6 s s 2

(D) W 3o Tara 8} Tereftr e g & ot 3R gt srer el €, e anfoar 2t 21

(E) oSrgaiaws

51 Jantar Mantars are located in these two cities - (Choose the most appropriate option from below)
(A)  Jaipurand Agra (B) Mathura and Jodhpur
(C)  Jaipur and Delhi (D)  Delhi and Gwalior
(E)  Question not attempted
1 2 et 3 S A e & - (P & e e P )
(A) AR AW - (B) WY T ST
©)  wag T feh | D) e R
(E) STuiaux
52 Who among the following is not included in the corhmittee constituted for the appointment of chairperson of tt
National Human Rights Commission?
(A)  The Speaker of I;ok Sabha (B)  Leader of the opposition in Lok Sabha
(C) The Prime Minister (D)  The Chief Justice of India
(E)  Question not attempted
mﬁ@wwmm%,m.ﬁmm%mmaﬁﬁﬁm@
(A) ST F o (B). v 3 farqer 3 ar
(C)  wamEHd (D) T & Wy =i
(E) wqaftaug
53

The State Information Commission submits its annual report to the-
(A) State Government

(B)  State Legislature
(C) Govemnor

(D) High Court of the state
(E)  Question not attempted

T FaAn s s arfda fond fame s war o

(A) REREER (B) T fyrmues
(C) T

D) Uy & geq AR
(B) orgaha s

A17138 . [P.T.O
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ConSld.er the.followmg statements regarding delimitation commission in India and choose the correct answer from
the options given below:

Statement (I): Delimitation Commission Acts have been enacted in 1952, 1962 , 1971 and 2002 for fixing limits or
boundaries of territorial constituencies.

Statement (II): Its orders cannot be challenged in a court of law.

In light of the above statements,choosc the most appropriate answer from the options given below.

(A) Statement (I) is true but Statement (I1) is falsec.

(B)  Statement (I) is false but Statement (11) is truc.

© Both Statement (1) and Statement (I1) are true.

(D) Both Statement (I) and Statement (II) are false.

(E)  Question not attempted

e Rl ST 3 st 3, FrerfeRae gera o Rrem aed gu Y R et & Tl e A1 7 A
o (1): TREH ST T 1952,1962,1971 312002 ¥ et Fuif w3 a1 frfrer e Y afeedar Fraffa 0
3 fore P T o | |

e (11): S0 TR T =ATATE & AV Tt <Y ST et 21

IR e o T A, A R T forepedt # & watfare ugw s T

(A) m(l)w%éﬁﬂm(rl)w% C(B) w0 (I) e & A e (1) §e @
(©) T (1) I H (1) AT e & (D) e () 3T e (I1) ST & 7T &l
(E) ATARTwH

Who among the following does not come within the jurisdiction of Lokayukta in Rajasthan?

(A) Members of services established by the act of Rajasthan State

(B) Zila Pramukh '

(C)  Ministers

(D)  The Chief Minister

(E)  Question not attempted

FrfRad & & H T F T hIh & RN &7 3 T8 A @

(A) TSI TS ¥ T B e dere hwee  (B)  foren @

() =t (D) FeEEE

(E) SIgaiawsd

Given below are two statements:

Statement (I): The British announced just before India gained independence that the British Crown’s Supreme
authority over princely states would not obligate upon the end of their authority.

Statement (II): The British government took the view that all these states were free to join either India or Pakistan
or remain independent if they so wished. ~

In light of the above statements, choose the most appropriate answer from the options given below.

(A) Statement (I) is correct but Statement (I1) is incorrect.

(B)  Statement (I) is incorrect but Statement (II) is correct.

(C)  Both Statement () and Statement (II) are correct.

(D)  Both Statement (I) and Statement (II) are incorrect.

(E)  Question not attempted

o (1): HTE 1 T & e TEeT, ST e BT 78 S A 7 off foR I I Tt 3 WA 8 o st i
T GHTH TET €

T (11): A Tt 1 e A A1 o rare srot wsff & e At v an wifeeea i wnfiver € s @ R eroet S e
AT sTC W ‘ :
390k AT 3 ST o, e fag g fededt i @ waffere g S|

(A) o (1) G R A e (IT) TTerd 2| (B) @A (1) T & AR e (11

) TR
(C) = (1) 3 v (1) SHT Tt 8 (D) @& (1) 3fkx i 3
a - (1) INTHAT (11) Y & ey

[ P.T.O.



57 Given below are two statements: ' ‘
s been a very developed place during various eras.

period hate also been found. be
w.
In light oftht above statements, choose the most appropriate answer from the o;ftlo‘ns given belo

7

(A) Sta{;z?nent (D) is correct but Statement (II) i is incorrect. &
(B) Stzgf?ent (D) is incorrect but Statement (II) is correct.
© Bogh\Statement (I) and Statement (II) are correct. ;
(D) Both-Statement (I) and Statement (II) are incorrect. =4
(E)  Question not attempted

ﬂ%a’ta&g’@qnq%: €3
H (): &3, Wﬁéﬁﬁua%lugﬁﬁnmﬁ%m@agaﬁmmﬁmél
AT (I8 HETRA il & SR Ao & I TSTHHT o THIE 3190 3 ahiet o Rie afgahd off 7t fireft 3

mmﬁ%mﬁ A R e Rrered 3 & watfres sugw SaC W"?

(A) @U)@%%W(H)W%I (B) mmm%é&#m(lnw%
©). asvixgg_(r) TR U (1) AT a8 D) FI) WW(ID%%?W%
pod

® g

In 1453, who seized Mandor from Marwar and martied his son Raimal to a princess of Marwar.

58
(A) Maharana Lakha (B) Maharana Simbha
(©) Maharana Kumbha (D) Maharana Mokaf?
E) Eftlon not attempted w3
a1 14sg§)ﬁ—aﬁqﬁtwmﬁwﬁmmaﬁzaﬁwmmﬁaﬁmﬁméﬁmw
(A) HETYUT AT ®) wEwvnRer €5
(C) wERmF™T (O) weRmnHEES O
(E) :maﬂasm i E\\Q
59 Which m'-x‘listry has introduced the Cinematograph (Certification) Rule, 2024? v
(A) Ministry of Information & Broadcasting (B) Ministry of Law & Justice
© M{'qi§try of Agriculture (D)  Ministry of Commiérce and Industry
(E)  Qugstion not attempted (-
Frefafaat & fom srera gro st sad (i frm, 2024 @wy R
(A) Hﬁaﬁtmuﬂm (B) ﬁfﬁaﬂtmw;r%\%
©) (D) =iy 317’:3@“&3!@
® 1
60 Sierra Leon¢ in April 2024, declared a national emergency on the account of : i
(A). Floods (B)  Political unrest

(C)  Zombie drug abuse (D)  Food shortage

”
(E) = Question not attempted g }

aaazo@ Pt v e e R s e g

@ T (B) mﬁmmw
© me?ﬁm ©) wE=HRwE O

[ P.T.O.

(E) aﬁﬂw., 14
\17 I@ ,«l
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Given below are two statements:
Statement (I): Kanjar tribe is mostly found in Kota, Bundi, Baran, Jhalawar, Bhilwara, Udaipur, Ajmer and Alwar
areas of Rajasthan.
Statement (II): The head of the family is known as ‘Kotwal in Kanjar tribe.
In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Statement (I) is correct but Statement (II) is incorrect.
(B)  Statement (I) is incorrect but Statement (II) is correct.
(C)  Both Statement (I) and Statement (II) are correct.
(D)  Both Statement (I) and Statement (II) are incorrect.
(E)  Question not attempted -
fawEfRgms: . :
oA (I): TTEIH H R ST ST Hrer, G, T, qrarars, fieare), IFaq, FerK 3N et e 4.91 -
Tt 2l
T (ID): i ST |, TRET S Y@ i Frarer” & T & ST S 81
i Tt el H, 7 R Resedt § & atfaes sugw sew

(A) ¥ (1) T & e e (I1) 7T 2 (B) A (I) TTAd & AT o (1) e 21

(C) = (T) ST FHU (1) SHI F&t 2 - (D) YA () AR HUA (IT) SHT & Terd B

(E) SAgaRayd

Which of the following district has the lowest female literacy rate in Rajasthan according to ‘Census, 2011°?
(A) Jalore ; (B) Barmer

(C) Ganganagar (D) Banswara

(E)  Question not attempted
2011 1 FEOAT o SFFER T 7 & T & fora et & aifeen amerar i s wes s

(A) SR ‘ (B) dW
©) AR (D) afga'[g[
(E) FIEi@yd

Given below are two statements:
Statement (I): Red yellow soils found in parts of Sawai Madhopur, Sirohi, Rajsamand, Udaipur and Bhilwara district.

Statement (IT): Red yellow soil is suitable for the farming of groundnut and cotton.

In light of the above statements, choose the most appropriate answer from the options given below.
(A) Statement (I) is correct but Statement (IT) is incorrect.

(B)  Statement (I) is incorrect but Statement (II) is correct.

(C) Both Statement (I) and Statement (1) are correct.

(D)  Both Statement (I) and Statement (II) are incorrect.

(E)  Question not attempted

a1 o few o &

e (1): e reft firgt ward Areiigy, e, orniz, seaqt ot ierarst firel & fewt 3 ard st &1
YT (10): amdi?ﬁﬁ@rgm—ﬁsﬂrmﬁ adt & fere 39 R

I e F e |, e g e faewed #§ & warfae 3ugw sa gl

(A) = (1) e & e Y (1) TTer &) (B) & (I) TTeId & QfeR e (11) Wt 21
(©) == (1) st apua (11) ST @ 8 (D) = (1) 3R HUA (11) ST & T B
(E) rgai@yg .

@ 15 [ P.T.O.



i i nner?
i up of elements 11 a non-linear ma
64 (&%Vlmt t}i:e of data structure 18 used to store a group o i

Qo ! D Tree
QC) Queue ) (D) g %
o E Question not attempte | ' :
iw”%gﬁaﬁ%ﬁaﬁ%m%m%mﬁmmﬁ m?}?;m;ﬁwmm;gw
Qo ® | |
= o) @ o
So = | 2

?TE) SR W

65 ¥“What is the name of the softwarc use
A Artificial Intelligence
o) Operating system
CIE) Question not attempted

ﬁwﬁammmaﬁwgﬁﬁmmaﬁmm&%wmwm

d to perform specific tasks on computer byiuscr?
B) Application softyare

(D) Utility software

O SRR g FI T I
(Ma)  nfSReRmEe R (B) TARIA }mz%"ﬁ;:”
Clo) e Reew (D) gﬁ%awmzémgmg
. Qp) IgERawH et P
66 {™Which of the following is an Azonal Soil group? i o
‘”iA) Lithosols soils . ® Tundra soil [~
(C) Laterite soil ' ~ (D) Podzolssoil .4
m(E) Question not attempted . L
Pt i & 2 i ST T g 27 :
@) T ®) T m
©) e g o) =g O
(E) FEE@ T Q0
67 "yWhich of the following is a fresh water lake? ' m
f~(A) Didwana : (B) Pachpadra o
«I(C) Sambhar (D) UdaiSagar &
(E)  Question not attempted S
frrrferfiaa & & o ol v T Y o 27 v
a)  feearm (B) YT
CXC) - AR © REwm
OJE) ogaRa g

203

68 (YChange the direct speech into indirect speech by selecting the most appropriate Qptian :
CHe said, ‘I am quite a good cook and I do all my own washing and men&};g too .
CIA) He said that he is quite a good cook and he does all his own washing an Y}endin to
[\(B)- He said that he is quite a good cook and he did all his own washing and fiendin 'gt §
v{C) He said that he was quite a good cook and he did all his own washing a %mend% o

(D)  Heinformed that he is quite a good cook and he can do all his own \vat} i

(E)  Question not attempted ]

69 wlvhich of the following is not a procedural language?
A) Pascal

1ing and mending too.

(B) PROLOG

C) FORTRAN M) co m

E)  Question not attempted e O

O%%ﬁaﬂﬁﬁm@ﬁmm PIERIGE T TR =

o) e . M
r“C) 3 (B) wEnT () g

E) TR v 2 . LF <

AT 16 *
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The starting point of Indira Gandhi Canal is in the state of:

(A) Rajasthan (B)  Uttar Pradesh ...

© Haryangf (D)  Punjab ; :
(E)  Questioh not attempted o0
3fea e ey s foig fovw s o &2 (80
(A) TSI (B) STRT
© e (D) (o)
(E) Nﬂﬂﬂa‘gw >
The Jawahar‘lsuﬁgar Dam is on which of the following rivers? =i
(A) Bandi (B)  Chambal
(C) Satluj{V} ' (D) Sabarmati vy
(E)  Question not attempted 3
STATER W ST § & fre 7t w7 (o)
(A) it g:i ' (B) waw )
© W (D) wTeHd g
(E) JARd I | f‘“*‘
Choose the most appropriate passive fqrm of the given sentepce. ?‘_;
I don’t like people telling me what to_do.
@A) 1 &on’t like what to do by the people.
B) 1 don{?ﬁke being told what to do by people. L8]
© 1 dongz*?lke being told by the people what not to do. ;@
(D) Peopg;gre being telling me which I don’t like %2
(E) Ques&gg not attempted {3
Choose the most appropriate passive form of the given sentence: ' -
I didn’t realise:that somebody was recording our conversation. [
(A) Ididn’tfealise that our conversation was being recorded. =i
(B)  Our conversation was being recorded by somebody.
(C) . Our convzrsatlon was being recorded and it wasn "t realised.
(D) Somebody was recording our conversation was not realised. (48]
(E) Quesfxg% not attempted &
Identify the w@rd that can best substitute the given expression: tit?)
A state of w?xB' or general unhappiness. _ m
(A) Dystr‘ophy (B) Dystopia O
(©) Dyxpra;ga (D) - Dysphoria (3
(E) Ques&im‘) not attempted {4
Find the missing number (?) from the given alternatives, A
ﬁ%ﬁqmﬁr«qﬁﬁmm%mﬂwwwﬁl

i O - z 4 ’ ")
(3 m#- {? O

(99

6 . )
(4) 46 ég B) 64 s
© so ® g ©
(B) Quesgi‘gg not attempted / 3TTART W [

v

7)1 s

[P.T.O.
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LU LRl
If Q means “+ ", I means ** x *°, T means *“ -’ and K means “+ "’ then

A QAT 3h 4, g TS x T H I~ SACK T3k FEATR, T
- ¢ - !
30K2Q3J6T5=0

@A) 55 B) 28
(©) 103 (D) 35
(E)  Question not attempted / 3133‘&3 ¥ :
SHRESHTA Scheme launched by the Ministry of Social Justice and Empowerment is associated with
(A) Ammy Personnel (B)  Tribes

(©) - Students (D) Farmers

(E)  Question not attempted |

I = 3R erfReRor WA 5T [E I TS 48 (SHRESHTA) ST hag a4 2l

(A) & Tl (B) AR

©) omE | (D) T

(E) SgoRaws

Which of the following is the first state in India, that has made rainwater harvesting structure compulsory to all

the houses?
(A)  Tamil Nadu : (B) Odisha
(C©) Rajasthan (D)  Gujarat

(E)  Question not attempted

Freafeafta & e ¥ were v T, Tof ot o ref srer ieeron s ¥ o o R 2

(A) diteETg (B)  3Jifswm
©C) THH D) NEAG
(E) 3rgaiaus

When did the Simon Commission arrive in India?

HRd § HIZHT ST F1 37T

(A) 1930 (B) 1932
(C) 1925 (D) 1928

(E)  Question not attempted / 3R 5=

Which fair of Rajasthan is called the ‘Kumbh of the Tribals’?

(A)  Sheetla Mata fair (B)  Kapil Muni fair
(C) Beneshwar fair (D) Karni Mata fair

(E)  Question not attempted

TSTEAT 1 -1 el TSI Y ST o1 o Featrar 82

(A)  Sfrder grar den (B) it iy drem
(C) SurgTHar (D) =oft wrar He

(E) rgafaug

During whose reign, a folk drama ‘“Tamasha’ started? (Choose the most appropriate option from below) .
Mabharaja Jai Singh '

(A) Maharaja Maan Singh (B)
Maharaja Sawai Singh

(C)  Maharaja Pratap Singh (D)
(E) Question not attempted
ﬁﬁfé‘fﬁaﬁﬁﬁ%mﬁ T A ek e Y% fovan (ﬁwﬁftmmﬁmgﬁ)
T A ¥ ®)  Werrom o fig

A
*) (D) WETST Hars fRig

©) mmﬁ?
() FguaTd

I3

18"




V

jn which fort Kishori Mahal, Mahal Khas, Kothi khas, Jawahar Burj and Fateh Burj located?

f (A) Jaigarh fort (B)  Junagarh fort (Y
(C) lLobagarh f""#is (D)  Jalore fort 9
(E) Question not attempted ¥y
frer vt el e, et e, e e, e g ot e et e 7 ()
w R z ®) g e o
© e (D) e et ©
(®) aagaﬂ?rsr%r L
’ AGENDA'ﬁw%@aﬁ%uanfﬁmaamm%? e
(A) PRI (B) o HateH
© W L (D) '-’r:‘RfE[ﬂ 84|
(E) qERAIHA ¢V =
j T SO, FRIR 3 arod o word s e g 0
(A) A SE UL (B) dmEwWIE 73
© omdwwr ) (D) EHIR A 3
(E) HIAla I {«TB Sk Cy
5 aﬁmﬁ%ﬁmmﬁﬁaw%ﬁm@mm%ﬁmmﬁ%mm%?
(A) T4 281 ’";;ﬂ _ . (B). FTD3363 =
©) 33%3243 iR (D) ITRI351
(E) Jaia 9y : L
¢ AR RomeE, oy o ;NZ
FUT-1: ﬁﬁﬁaﬁqﬁgﬁmﬁ%a@?ﬁ%l vy
IR - 11+ TCETaT, TR S Tty 61 o <6 Sreft et o s e e
i e 3 orreig ) PrferRad Rt 3 & wafers s s g =
(A)  FU1H &, o 11 3T R ®) T Y, g e 1 EE R
€ ARG TAE (D) o 1 39 11 3 v e
(E) orEfawa : =4

" Given below are tw6 sfatements :
Statement (I): The year 1947 was a year of unp;ecedented violence and trauma of displacement for India.
Statement (II): India was born in very difficult circumstances in 1947. Perhaps no other coﬁf;ﬁ'y had faced a situation

more difficult than thaLof India. . o

In light of the above ements choose the most appropriate answer from the options glvﬁn%elow
(A) Statement (I) ~correct but Statement (II) is incorrect. {3}

(B) f Statement (1) j isir incorrect but Statement (II) is correct, ngﬁ f.
(©)  Both Statement (J) and Statement (I) are correct, &)

(D) Both Statement (J) and Statement (II) are incorrect. =

(E)  Question not ;mfmptcd 4

+t &t e fg e

P (1): e ferdt 1947 7 o S fean e freenfoy fg s v arfivera & viar gomam

HU (10): 1947ﬁqﬁa%mmﬂaﬁamﬁaﬁﬁﬁmnmlwﬁﬂﬁwﬂ‘ﬂm%ww TR g
m:—agwmm«mﬁmm if’?:ﬁ ¥
T et i, A4 e - e g e i )
(A) W(I)w%ﬁﬁﬁww)m%l (B) e (1) rera & b wver i)y :
o "‘(n)ﬁamn o F (1) |e &
o w“% Eﬁ"“‘(1)"""W‘“’f(II)E’I'-!‘m'razf%‘l
7]@ ““"“! 19 1“@

[P.T.0.
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Which of the following state was carved out of Assam ?
A) Manipur

(©  Tripura

(E)  Question not attempted

FeafRaRa 3 2 fover troar i o i 4 a7ept a3 ST T 417

(D) Meghalaya

(#)  afrg . e
(©) ﬁ'ﬂ'ﬂ (D)
(B) i@y

nd walked for 12 km to reach hjg bl
Ajay left his office and walked towards East for 5 km, and turned left a

for 5 km and then turned lef o d.-ij.@
Rakesh who works in same office, left the office and walked towards West |

for 12 km to reach his home,

What is the shortest distance between home of Ajay and Rakesh?
(A)  24km e (B) 17km
(©)  34km (D) 26km
(E)  Question not attempted \ i
mammaﬁmﬁmﬁ%mﬁs%nﬁmﬁzawéwamﬁwﬁm@%%ﬁ12%‘“; |
shazﬁwafaqﬁmw%, %mmmaﬁfﬂqﬁmﬁ 5%5:ﬁamaﬁtﬁ;{agaﬁﬁmﬁga (3
TET % 12 Rt e maﬂtuﬁgfv%m%aﬁa?ﬁrwaﬁwﬁ?. |

=N

(A) Between S and T (B)
(C)  Between QandS _ (D)

" Between Qand R
(E)  Question not attempted

IR R, § T AT § 7 H AU

Aty ! QWT‘%W%%IPWRQEW%%%@% aadtd
(A) ST H i - :
Rafk
© Qs Hdgi o) Qaﬁm: q
() afaay sfer i
The reaction between ap acid and a base g called;
(A)  Addition reaction ®) Di5socjmi ;
© Neutralization reaction D) o On reaction
(BE) Question not attempted Malytic Ieaction
O TR ST &1 3 offy AR et 2,
(A) Ao sifirfpa
(B) ﬁltﬁ;,;[
C) ST arfirfm iy

¥

E) aya » ST e
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A17 |

hich of the followi ants |
w _ owing-events is not related to phenomenon of Refraction of light? (Choose the most appropriate
option from below)

(A)  Blue colour of the clear sky

(B)  Formation of imagc by a leng

(C)  The coin kept at bottom of a pot containing water appears raised
(D)  Appearance of Sun before Sun rising and after sunsct

(E)  Question not attempted

A & N Wl e e 3 srward  waifer gl & (Pt @ e swges Prere =)
(A)  TTE JTHIY HT e fr

B) uHa grr vl st ffor @)

(€) TR WS & et v @ R 3t 31 5ot Wl g 81—
(D) A & e AN gt & ame w0 faen

®) gERawE

What will come in place 'of question mark in the following sentence?

A & g Aot 7 swar Foreg & w2

¢ TeRST

I'\\d’(')LYJSE : EPETC :UGHT: _?
(A) MGHFV L (B) JGEFR
(C) MIHIV (D) JJEIR

(E)  Question not'attempted / Sﬂ?{ﬁ'ﬂ' a9

How many genotypes of the human ABO blood group are possible?
T ABO SRR ait & forae sit9 w&q (A1) Ta 82

@A) 3 ‘ B) 8
©) 4 D) 6
(E)  Question not attempted / IFART T%

A pen is placed between two plane mirrors which are at right angle to each other. The number of images formed of
pen are:

a@@%ammm%m@haﬁww%lhﬁﬁﬁauﬁ%ﬁﬁm%
(A),.-3 , B 3
©): 4 D) 2

(E)  Question not attempted / i 94

The multi channel TV programs can be seen directly at home through satellite by using a ‘Dish antenna’ without any

cable connection : (Choose the most appropriate option from below)
aﬁmﬁaaﬁﬁmaﬁ%ﬁmﬁmamyﬁwmaaum&mgauHWME@mmmmnﬁmayumaa
(P ety g P ).

(A) C-DOT

(C) .DNS

(E)  Question not attempted / Wﬁﬁ a4

If any object is thrown upwards with velocity more
(A) Return to Earth

(C) Go into space

(E)  Question not attempted
WMH@@ 11.2 km/sﬁmfﬂmz‘mi:q:@i@ﬂ@ 3ﬁ(§ﬂﬂﬂlﬂ!&?ﬁa§l
(4) t arfi 1 el (B)  =iEwn & AR i TR amd

(C) fafrer & =reh srft (D) gt & i SN e sl
() Tgai@us

(B) CDMA
(D) DTH

than 11.2 kmv/s from earth then the object will:

(B)  Revolve around the Moon
(D)  Revolve around the Earth

21 [ P.T.O.
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98  Where is Fullerenc used? {n manufacturing of jewellery

(A)  Incutting rocks and stones (B) - aking clectrodes IS8
(©)  In purificationofinatural gas (D) Inm ') "
(E)  Question not attempted o0 :,il_"J
G T I el g &7 cor it d|
(A)  =EA AN veerd Y e i (B) S %; P 3
(€  wiHfae g & G i (D) TS f )
() i
(B) rfafaww « erlificof® with 37
99 C is the mother of A Rnd B. If D is the husband of B, then what is the : ?”3
(A)  Mother 4 ' (B)  Mother-in-law
C) Sister (D) Aunt
«© : PP a
(E)  Question not ettgmpted i (“‘
. . -<x B
C, AR BRA@AAR D, BH1uf e C 1. D A Fm Helw 87 _’°
A = ol (B). ®W 0
s
© & ™M (D) Wl . Q‘D
(E) gakawy O ;‘f:: .
( 100) In certain code “FR&EN” is writtcs:n as “OFAPSG”. Then, how would “MOLTEN” be?»iv:ntten in that code?
— frtge wor it “FROZEN" FY “OFAPSG” Rerarwimar 21 ar 3eft 2 W # “MOLTEN* ot 4 ferar stmarm?
(A) OFUPMN ‘' 0 (B) OFPUMN FRoOZENV
(C) OFUMPN (D) OFUPNM oFRAPSU
(E)  Question not attempted / AT T (82
Read the passage and answer the questions that follow: (Que No: 101 to 104) ()

The end of human endeavodr’js happiness and contentmgn}. The advancement of science haginot been able to bring them
about. On the other hand, it h’fﬁmade our lives complex and crooked. We can see with alarm
is waging against l_it_cgamre_ﬁﬁa art. The reah'n of poetry is being cénquered day by day. Th
at the cold touch of sci'ence,%at a solace was there in thinking of the silently?hining stars,

thé'tinending war which science
e Soothing charms of Nature fly
th€blessed candles of the night!
uring suns and the rainbow of
a prism of colours! The cheer and the charm are gone and the

What comfort is now left fo the average man to know that the stars are but so many b
Wordsworth, at the sight of 'v?i%ch his heart leapt up with joy,
dull fact remains.

‘Science’, observes G.B. S W, ‘never solves a problem without creating ten more,’ But art an iterature are themselves the
] e

the s ng cataracts of Wordsw%rth, the Skylark of Shelley

aninspiration to the discouraged, sy

solution to all our problcmi.; 11 our worries leave us amid the Soundi
and the Nightingale of Keatwhcy are arest to the weary,

best antidote for trouble. 42 ine to the sad, and Nature’s :
101 The cheer and the charm of all humans are gone because: m

(A)  Nature is the B&st antidote for trouble ' O

(B)  Science fails lﬁ“bring them satisfaction as it has robbed natyre of its chy C;’

(C)  Science solvesall problems dham s

(D)  People don't enjoy Wordsworth, Shelley, and Keats o

(E) , Question not attempted
102 Identify most incorréct'option from the following;

! M
Art and literature he[pg us: Q
A to prevent oyrselves from trouble,
(A) » B) to Mmake material progress in 1:
©) to solve all owmblems. D) 1o give s 1 In life.
J f . r i
a B o o Epripted €st to the tlredﬂ‘rlg bored,

=4




103

104

106

107

108

The most appropriate meaning of the word ‘solace’ is:

(A) Contentment (B) Comfort in distress
(C) Effort (D)  Realm

(E)  Question not attempted

Match List-I with List-11:
List-1 List-I1
Words Synonyms
a, Endeavour L Dishonest
b. Crooked L Anything that prevents
Cataracts III.  Effort ,
Antidote IV.  Water that falls
Choose the most appropriate answer from the options given below:
(A) a-IV,b-I,c-1II,d-1II (B) a-1V,b-Ill,c-I,d-1I
(©) a-Lb-I,c-1I,d-1V : (D) a-INLb-Ic-1V,d-1I

(E)  Question not attempted

Red panda is main fauna of which of the following biosphere reserves? .

(A)  Dibru-Dibang : (B) Gulf of Mannar
(C) Nanda Devi (D) Nokrek

(E)  Question not attempted

Tz umve, fefafiad § @ fore wiféra sftamose =i @ 87

(A) Tegfeamm (B) H~R#HI @rEt
(C) F=redt (D) sheh
(E) Igaiayd
* The Punchhi Commission (2010) is associated with which of the following?
(A) Reforms in Education (B) Tax Reforms
(C) Center State Relations (D) Abolition of Death Penalty

(E)  Question not attempted

91 AR (2010) Frafafaa # & frad wefia &2

(A) Frardgur (B) FEUR

(C) HETFHGY (D) TS I

() gaiasa ,

Who among the following was the first woman Deputy Chief Minister of Rajasthan?
(A) Kamla Beniwal (B)  Vasundhara Raje

(C) Diya Kumari (D)  Pratibha Patil

(E)  Question not attempted ;

frafafad 3 @ %09, Teredr 6 gaw wfeen 3q-qeaw off?

(A) @&l CLiCIG! (B) aguu TS
(c) ferzad - (D) wfonofea .
(E) Fgufaaa

How many MPs arc nominated in Rajya Sabha by the President of India?
T 3 T e BT T AT # ot wawdt (Mp) at sl fea st &2
Aa) 18 (B) 10

© 12 D) 6

(E) Question not attempted / 377xfta wy

A17 ]33 23
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is Phenome
mber speak. Thi :
p speaking and let another me e

3 yi y:___
+

Uy
109 The speaker can us}wn member of the House to sto

M
known as: e |
A)  Interpellati = () Yiclding the floor =
(A) nterpe mm\bo . ilet prret m

(C) Decorum (V) (D) 18
(E)  Question notfttempted e :ﬂfﬂfa éﬂﬁl}m A ST Sy 8
aﬁmmrmﬁmmﬁaﬁaﬁﬁﬂa‘mhﬁt@“m“ﬁ‘ "q;i' "o ;7}
(A) WA GERAE) @) fafedt ?m | [~ F
©) water @avy (D) RIS el
(E) W | for farmers))
. sthan Government for farmerg

110 Which of the followitg is the name of a mobile application launched by R“J"Stka: i
(A)  Rajasthan Fatmbers App (B) Raj Kisan e g
(C) Farmers Orgqa: App (D) Kisan Organic ApP ¥

(E)  Question not ’}cmptcd
Feffeada WWWWW%EWWWWWWQ 2

A trawmwrié"iv ® iR o
© (D) FrTSARET e
(E) agaﬁasm ' v
111  When was the first ?gnculture Budget presented in Rajasthan separately? (Choose the most appro
from below)
mﬁmm%mm%&wﬁwm (P i & el Sug faee ) ™M
(A) 202223 (YY) (B) 2023-24 8
(C) 2020-21 (D) 2021-22 o™ 4
(E) Question noq-\tempted / 3133&? P )
112 isa merg:?r used to store data temporarily, whereas stores data ﬁmanently, w{  cannot!
altered or deleted. - . N
(A) Compiler, ROM (B) RAM, Operating syste}?‘
(©)  RAM;ROMyy) (D) ROM;RAM

(E)  Question notattempted
@W@@mmmﬁaﬁmm%m%m ﬁmﬁm%s% 3

& Tt HaaA & fog fopar stman €, Eﬁﬁ?qﬁaﬁamﬁaq:rﬁmm%l _

A)  FEEa, )

(B) W, 3Tt Ryey
© wmm O (D) Wy m
(E) i@ gy e~ .
113  Hardware that is usmo provide information, data and to control sigp o
called “

15 10 a computel§ystem from ou

(B) TP Moni
(D) onitor

- (Choose the most appropriate option from below)
(A) Keyboard &(Mfuse

(C) Output Deyigey

(E) + Question notafiempted
mmmnmmmmma

< &, E e 16 & vl e e ) Wmmmm O
A) gzsﬂqmqaﬁaa R

Secondy
Y Storage Dey;
Oy

(B) a_ma 5 ™

© (D) - <. Wiy
(E) awaﬂﬂ“sw a“‘“gﬁw% 8
AT . 2 ™



114  The height of banana tree and lemon tree is same. Mango tree is shorter than plum tree. Guava tree is smaller than

116

mango tree but big&ej than banana tree. Find out which is the tallest tree?

(A) Plumtree ) ‘ (B) Mango tree ::g
(C) Lemon tree(V) (D)  Guava trce (3{]:
(E) Question nmtcmptcd )
%ﬁaﬁ(ﬁiﬁﬁ%%m%l mm&s@uﬁg@aﬁgﬂm%l m:ﬁr%@%&%ﬁ@jﬂ%‘“ﬁ*ﬁg
3T 31 T 7T §g A w1 R 1 R AT Zz
(A)  ACEEN H g 3TUB) AWM HEUT 5;,4
©) Higwvg > (D) B HIU
(E) gaf@ws g
Given statements toghe true even if they seem to be at variance from commonly kn{va} facts , then decide which
conclusion would foflbw on the basis of given statements. B Vs |
Statement : No n@ber is a digit. - )
All dfgit are fractions. : :g
Somgﬁ?ctions are integers. i.ﬂ;"
Conclusion : I. All fractions can never be numbers. . ot

II. Some integers are definitely not numbers.

In light of the abote;jtatements choose the most appropriate answer from the options glven below.

(A)  Both conclysign I and II follows (B) Neither conclusion I ap .'}nor II follow
(C) Only conclé¥idn I follows (D) . Only conclusion II follofys
(E)  Question n&;’ttempted . ' 48]
mﬁqﬁxuqﬁwm% ﬂé%ﬁ%mﬁmwﬁ%ﬁmm‘a’&% mx&%%«rm e fRw & Fet 61
ATfeheh BT § ST 81 Ny
U FI M HET 3 T 8 ' o \ v

Loty & @RS "

FT T iR el | ' .
Froast; 1 o et e e b

11 73 Tt ViTera &9 & dead 7€ € 00

e e o S, A% Fag e e - et 3uge SO :
(A) ﬁﬁﬁ%‘f%‘tllwmﬁl . (B) wﬁmﬁélsﬁxaﬁwﬁ\qqmmﬁn
(C) AT AR Lyia T 8| (D) Wﬁwﬁllm

(E) FaRaud -
If the following words are arranged in the sequence which they occur in the dictionary then which of the word comes

in the middle ? C?

v
57 gredt 1 ARy pEateaa i sii wer yreg yra hifdg E-)
Elegtric, Eleglor IR, rlcmmn. Electode w0
ﬁ Election & % (B) " Elector cr)
© Electric ™~ (D)_ Electrode (?
(E) ~ Question ngtattempted / st g g:’

A17]§3 '. 25 v [P.T.O.
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etween (i) and (iv) bY_Se

117  Figure (i) and (ii) are related in a particular manner. Establish the same relationship P lectn,
a figure.
Which figure would replace the question mark in fig.?
SR () 3 (i) o g & e fafre i & el TR (i

=51 = L i e g (7) & e W

Slelel?

() (i) (iii) (iv)
w @) | ® B@E
© (e2) | o B;E , ;g

(E) Question not attempted / ﬁﬂﬂ'ﬂ a4q
118 Which of the following option is different from others?

frafafiga & & @i ar fasea s & AT E?

. (V)
W

(A  (1,56,9) ®) @g@ -
© 6,189 (D) (9 2§ 2)
"\'7

(E) Questlon not attempted / Mﬂﬂﬂﬁ BE

119 Rearrange the unorganised letters given below to create meaningful words and then choose,

one of

different from others ?

i YTE S 3 o TR awaw&aﬁra:amaﬁrﬁm afnaﬁngﬁﬁﬁag@mwaﬁﬁm
a. DIAFRY b. STEUDYA' i
c. DHAIOLY d. ANDMYO

A) ¢ ® d

© a , ©) b

(E) Question not attempted / SITARA TH '

120 Which fort is called ‘Sonar Quila’ or ‘Golden fort’?
(B) AmerFort

(A) Jaisalmer fort
(C) Jalore fort
(E)  Question not attempted

Freferfaa i & e Frr 1 g ferer A ﬁ“fﬁﬁT EEILESICISIGI8 )

(D)  Gagron fort

(A) S ferett , (B) IR frar
(© R fR ' | (D) TR ke
: (B) FrfaRawd
121 = Who was the first novel and drama writer of Rajasthani? (Choose the most appropriate option fro
(A) Nemi Charan Bhartiya (B)  Devi Charan Bhartiya ;
(C). Shiv Kumar Bhartiya (D)  Shiv Chandra Bhartiya

(B) ' Question not attempted

mmm%mmmm (ﬁ’:‘ﬁﬁm“’ﬁ?ﬁﬁm-@)
© fEFTT )R RS,

® T 5
A1713

26



22 Allah Jillai Bai, aifz’iﬁxous folk artist is well known for: "
(A) Dance ’(ii (B) Folk Drama &
(C) Kurja singiﬁg% (D) Mand Singing 00
(E) Question notattemptcd ™
et P a1d o it S e A Ryl o
4 T &..;‘;’; (B) WrHARH &
© FetmE (D) HfE T h
(E) a!g?rﬁaxr&rré =

123 fRA AR :
U - 1+ 575 W &1 WY 3 S Fioreh g 61 W g 2 ™

= - 11 : forem i, i, gom ﬁwwﬁu@aﬁmaﬁa@ﬁ%aﬁ%%ﬁﬂuﬂﬂmél

s e '

Id e 3 el H Freffan Rt § & watfires Jugw ST : &
(A) U TR | R o 1 ST | (B) FAIIWAR, ﬁﬁ%ﬂlm%l
©) WI@T%W%I D) wmﬂtnzﬁmﬁ[;%l
(E) mﬂam& 2 _ b
124 ﬁ%awﬁqn@{g L.%

wHAT-1: aaqwﬁ:maﬁ%l
wFUAT-11: sq‘mavf%|

mm%aﬁ%ﬁmﬁmﬁammwaﬁ . N
(A) mlw%gmwn TR B) FHINEAR, ﬁmmnm%l
© wmﬂu@ﬁw%‘l (D) IR AT 5
3
(E) Igaia T~ o
125 Microsoft Excel’ g;_gnnula begins with o
TR TR seEgead %l P~
a) * v | ®) | i
©) i ® =
(E)  Question Iagt»attempted / mﬁﬁﬁ = ™
126 Whichoneisa spreadshcet program in MS Office? : o
(A) MS Word((3 . (B) MS Excel o0
(C)  MS OutlodK) (D) MS Powerpoint (V)
(E)  Question not’attemptcd O
ﬁqﬁ@ﬁqm@mms Office) %1 T TeIfe ST &2 O i}
(A) TER (B) UHTHTHRHA :
(C) THTHIAIH" (D) THTH 9ET @1
(B) IEARanA
127 Which of the follé’%g is the theme of “Jal Shakti Abhiyan: Catch the Rain, 2023'? ™
(A)  Source susg?labxhty for drinking water (B) Save our water bodieb-Save our planet.
(C) Save watexr Ig.ave Earth, (D)  Drinking water for alm
(E) Question ncoz, attempted m
ﬁ:{%{ﬁﬂ’ﬂﬁﬂ ?&a‘uﬁﬁ:ﬂﬁ'ﬂﬁ FT T, 2023 ﬁﬁmﬁwm%‘z (.:.3
(A) W@“ﬁmm@ﬁﬁ%ﬁ) B e e aanf{anﬁugaﬁwaﬁ
(©) , TATTA IR @) Wi Ry

® IITRATA 4
Al17 ]@ 27 [ P.T.O.
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128

129

131

132

133

134

Who has been appointed as the Advocate General of Rajasthan in February 20247‘

(A)  Rajesh Kumar Gupta (B)  Rajendra Prasad Gupta
(C) Praveer Bhatnagar (D) N.M, Lodha

(E)  Question not attempted

W 2024 3 Y Tt 2 vl i w i Rrges far e 7

(A)  TSRT W (B) TR W T
(©) W wEanR (D) A, uw, &gl

(B)  orfafa

High Mobility Artillery Rocket System (HIMARS) is developed by which country?

(A)  India (B)  China
(©) USsA (D) Japan

(E)  Question not attempted

T MR anféedt e Reeew (HIMARS) w5t frepr fora 337 g7 fopn T 27

(A)  wRT ®)

© ‘i Ty, T, (D) S

()  raf@ wx

According to IQAir, which city has recently been ranked as the most polluted city globally in 20237
(A)  New Delhi, India (B) Begusarai, India

(C)  Dhaka, Bangladesh (D)  Pokhara, Nepal

(E)  Question not attempted

ST VT HEhih (IQAir)  3Tga, farar i 2023 & it st wret 1 5o, o er A R a2

(A) 73 faeelt, wia (B)  SNTERT, YR

(C) <, SRy (D) Y, T

(E) 3rqui@ws

Who was the first Chief of Defence Staff (CDS) in India?

(A)  General Sam Manekshaw , (B)  General K. M. Cariappa
(C)  General Bipin Rawat (D)  General Anil Chauhan

(E)  Question not attempted
T & oW 9% 3% % =1 (CDS) #7 9

(A) AT 89 g ‘ (B) A%, ww, SHfgeqy
(C) v fafs waa (D) e A e
(E) idf@ gy

Choose the most appropriate sequence of articles to complete the fol

Itis pleasure to do ' business with such efficient organization.
(A) a,_, B) a,_ .,

(C) _,aan (D)
(E)  Question not attempted

Choose the most appropriate word to complete the given sentence:

lowing sentence:

—t sy an

If you a skeleton in the cellar, don’t mention it to anyone,
(A)  founded M) willbe finding
(C)  will find (D) find

(E) 4 Question not attempted
Choose the mosy appropriate meaning of the idiom given below:
His eldest son, a spendthrift, is a thorn in his side.

(A) Having a disease (B)
(©) A con:slam source of annoyance to him (D)
(E) Questxgn not attempted

Ising Painfy] oo

nditj
An asgey on

_. - 28 o
A17]§P ) | [




135 Complete the given sentence by choosing the most appropriate response from the options given below:

136

137

138

139

140

He was reprimanded

(A) in

(C) for

(E)  Question not attempted

his teacher for biting his nails.
’ B) to
(D) by

Which among the following was the major challenge India faced while building a nation state at the time of
independence?

(A) To establish democracy (B) Low level of Technology

(C©) Poverty (D) Resource Constraint

(E)  Question not attempted

m%wwm%ﬁmﬁmaﬁmﬁﬁmmﬁgﬂﬁmmmm

(A) AR Y T B)  Srenfirh = fe T
© ffm : (D) e Y
(E) iaiaws ‘

A mass based organisation MKSS took the initiative in demading records of famine relief work and accounts of
labourers was first raised in which state?

(A)  Uttar Pradesh (B) Rajasthan
(C) Bihar (D) Odisha
(E)  Question not attempted

T S ATHTRA TS T 3 TH T (MK SS) 3 et TR ST e 1 S ATl o6 el o6 HivLeh1 ] e o %
T ISTT 7T AT

(A) SEIRY (B) TSIH
© frEr (D) femm
(B) IruRaw"

On 6% November 1943, Premier Tojo announced that Japan had decided to hand over some islands to the provisional
Government of Azad Hind. Which islands were those?

(A) Andaman and Nicobar Islands (B) Maldives

(C) Cocolslands - (D) Lakshadweep Islands

(E)  Question not attempted '

6 T 1943 T, ST F@ Asit 3 sl <6, 36 STar 3 e it it 11 fée i st wr 1 wied o ot ferar
AT EA T D

(A) ieaH 3 e (B) HEE

(C) =FEIEW . (D) aEIHY
(B) STgaRa s

frfafad # sy |y 31e9g &1 U Y61 A8 -

(A) ZymaEsE: (B) hIciaTdh
(C) Bga™EF (D) forgar®
® geRana

gt &R A 7 srar feredtum g4 @ mm
wmﬂﬁmﬁflﬂmﬁmmW%?

(A) ATy fergaor : B) e fagor
(C) TorErEs fadgor (D) wHemaTae fagior
®) FgIRaER

Al7 ]@A ' 29 [ P.T.O.



141

(A) W(I)m% AR Fo (1) srr (B) e (I) STEAR, WW“D?%'
© w1 3w ) A & D) W(I)aﬁman?ﬁﬁ T el
(E) e s, -
142 Which of the followmg 1s a physical change? "
(A) stsolutngp of salt in water © (B) Formationofcurd % *
(C)  Cooking of food (D) Ripening of fruit
(E)  Question not attempted A
PRt 3 & wr o s i 2 | | ol
(A) ma;rwmﬁaam (B) TE RIS :::f
© ’ﬁﬁﬁ'ﬁiﬁl’ (D) A HFTHET iy
(E) mﬁa;rq ';é
143 Match List-I wjth List-II: o
List-I List-II 2
Chemical Substance Application / Usage *
a. Bleaching powder L Manufacturing of glads *
b. Baking soda II. Dental medicals
c. Washing soda L. Purification of dnnkmg water
d. Plaster of Paris IV, Antacid b f
efl1 F1 ety g gifra i &
-1 eI X
a. i T3t L 1 7 oy (';:)
b. e . < faferey &
c. @mdEr UL Wsmmggg b
d. N i@ AV ST v
Choose the most appropriate answer from the options given below:
12 g a7 fararedt & & wrafferss g 30T "
(A) a-1V,BflLc-11,d-1 M) a-m,p. IV, ey, ({__;’
(€) a-LbAiLc-1v,d-11 M) a-mp.gy -
(B)  Questiohmot attempted / STaftd 44 F;Il
144  Choose (he most 8ppropriate English translation of the given Sentence; i}
T T gt HS B o
(A)  Youargfumeeessarily sitting here. B) " Withoy, any reasop, & hcre
(C)  Forno fgasons, YOu sit here. 4 (D) Forne Feasons, You should not sit &

Given below are two statements; ¢ '9 : :
Statement (I):{Tlic fusc is placed in parallel with the device in the circuit. ”‘ ’:ng the flow of high U,
Statement (IT): The fusc used in the clectric circuit protects the appliances by @ X l
through them. (X) élvcﬂ below.

(A)  Statement (1) is correct but Statement (1) is incorrect. )

(B)  Statement (1) is incorrect but Statement (I1) is correct.
(C)  Both Statement (1) and Statement (IT) are correct.

(D) Both Statement (I) and Statement (II) arc incorrect,
(E)  Question not attempted

A A e Rum §:

HU (1): T Y, s 3, Swsor 3 wmier war s )
ST (O1: R 5, ST 8 e et v e g e S A
mm%mﬁ ﬂ%ﬁqmﬁaﬁﬁﬂmﬁ%mmaﬁl

Y
(v

In light of the aboye statements, choose the most appropriate answer from the OP“"QS
[
[
5

A
L

s’

{Y

You
(E) Quebh()n ﬂbt 3mmp"ed a{e*§lttlng here.

30
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148

1406

147

148

Choose the mogy
St app, fate Englis
' ppropriate English word for-
(A Adjudication
(©) Decision (B)  Authorization

() Question not attempted (D) gtbliralion

Choose the most appropriate style
(A)  Yours obediently

(€)  Your’s obediently

(E)  Question not attempted

of writing the subscription for a formal letter:
: (B)  Yours' obediently
(D)  Your obediently

To protect mo S ; i
! ohuments, places and objects of artistic or historic interests, which are declared to be of national

importance is included under Constitution of India under- a £ 13, :
(A)  Fundamental Rights (B)  Judical Review }
(€)  Directive Principles of State Policy (D) 1 Fundamental Dutics 4

(E) _ Question not attempted

T, T S et aeqgei an et e 5 el ) e T o ferg 3 g et 1 7 £ T 87
R Wi ® Rraffaa @ Rt witafee 8

(A) e iR B)  =nfie gAfdEm

(€) TsT % =ify v R (D) Fd

(B) Irgaiaws -

Which of the following bank was setup in 1982 by the Government of India, to address the issues of setting up of the
banking institution in the rural areas?

(A) Central Bank of India .(B) SIDBI

(C) NABARD ‘ (D)  Reserve Bank of India

(E)  Question not attempted

IR T G T St 7 ST et Y T O % e 7 1982 # et .4 form Sk deg™ A1 e

(A) e I i g _ ®) e
QFE™ 1D (D) T e
(E) Igaia a0 ;
149 Karewas is ‘ .
(A)  Thick deposit of glacial clay (B) A group of trackers
©) A folk dance v (D) Desert soil
(E)  Question not attempted
Farg 2 :
(A) Wﬂﬁﬁﬁﬁﬁu’lﬂw@@m (B) 3R 1 R
(© wHAHTE (D) vl
(E ga 1 ~ .
150 lentify the statement which is NOT correct about the Northern Plains of India?
(A) Bhangar is an old alluvial soil dcpo.sit
B) F i w alluvial soil deposit -
((C)) 5:;:]1::; l::;:ow belt ranging between 8-10 km parallel to the Shiwalik foothills at the break-up of the slope,
(D) Tarai is a belt consisting of old and new alluvial deposits.
£ i ttempted . . \
) Question oy ot e e T , e e -
(A) wwmﬁé’fﬁwg%l ¢
B et m 1 Eﬁ q-(-a | .~
Ec; m;m%eﬁwm%mmm%@w8:1of§;m_q1§ﬁn§g%l
(D) mﬁﬁw@gﬁgaﬁmmmél
(E) et b
1 | o
e 3 ' [ P.T.O.




